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MASS COMMUNICATION AND JOURNALISM
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all the questions.

1.  The first European who attempted to bring out a newspaper in India was :
(A) James Augustus Hicky (B) James Silk Buckingham
(C©) William Carey (D) William Bolts

2. The body which represents the Indian Newspaper publishers is :
(A) AINEC (B) NUJ (C) IFW] (D) INS

3.  Which of the following Article in the Constitution of India deals with the reasonable
restrictions on freedom of speech and expression ?

(A) Article 19 (1) (a) (B) Article 19 (1) (b)
(C) Article 19 (2) (D) Article 19 (3)
4.  The technological process through which the same content can be distributed in several
channels :
(A) Informatization (B) Super highway
(C) Convergence (D) Divergence
5.  The act of remembering the source and forgetting the message is known as :
(A) Hearing effect (B) Demonstration effect
(C) Visual effect (D) Sleeper effect

6.  Festinger proposed :
(A) Cognitive dissonance theory (B) Reader-response theory
(C) Symbolic convergence theory (D) Structural theory

7. Theatre test is conducted to check the effects of a :

(A) Campaign (B) Service
(C) Advertisement (D) PR
8.  In the contest of communication congruity refers to :
(A) Truth (B) Agreement (C) False (D) Imbalance

J—6308 2
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2. YRAM THMER T5 % YhIeh] o1 Yidife i ool §eA ©
(A) TIETTH (B) WIS (C) ACTESS (D) AR T TH

3. YR GfauM & fohd =g § amp-3IR Afveafe @i W & dehdd yider o 56
§?

(A) =R 19 (1) () (B) T=T 19 (1) ()
(C) IT=T19 (2) (D) IT=< 19 (3)
4. 5= Tt 961 g0 T & fowa g o1 o™k wieawi | foafia foram sm & :
(A) S HE HAT (B) YW TR
(C)  STfaERor (o) (D) STYERY (SrEesi4)

5. I Wl UG W@l SR G H1 A < o 1A I Hel SR
(A) g9 guE (B) WefRid qv (C) T YvE (D) WIR g9&E

6. HRES A o fagr =1 wfqufea frn 2

(A) FHES STHHSE (HFTHfed fesia) fagra
(B) drek-gfatman fagm
(C) TdiiehTeer & g
(D) WA g
7.  ToRIeT T 7k gvmEl 1 <@ o T fohen S ©

(A) stfEm (B) Hel (C) fommm (D) SEh

8. HUR®F T H WA (HYE) HUE T
(A) ¥ (B) weHfd (C) 31HA (D) TEdeH
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Selectivity theories emphasize on :
(A) Message (B) Source (C) Channel (D) Entropy

The model which helps to locate the attribution and construction of meaning with the
receiver :

(A) Expressive (B) Ritual (C) Publicity (D) Reception

The committee which looked into the problems of small newspapers in India was headed
by :

(A) Justice Rajyadhaksha (B) B.G. Verghese

(C) R.R. Diwakar (D) Kuldip Nayyar

The consistency of a result or of a measure at different points in time is known as :
(A) Snow ball (B) Multistage
(C) Simulation (D) Stability

The school of thought which advocated media manipulation of images and symbols to
protect the interests of the dominant class is :

(A) Frankfurt School (B) Chicago School
(C) Toranto School (D) Glasgow School

The use of scientific research methods in Journalism is known as :
(A) Armchair Journalism (B) Analytical Journalism
(C) Precision Journalism (D) Sting Journalism

Fog Index refers to :
(A) Framing (B) Readability
(C) Visibility (D) Availability

Participatory content creation is known as :
(A) Precision journalism (B) Citizen journalism
(C) Turncoat journalism (D) Envelope journalism

The assumption that individuals create meanings have intentions and make real choices
is :

(A) Ariology theory (B) Actional theory

(C) Nonactional theory (D) Quotology

The Indian media group which has tied up with the Reuters :
(A) The Tribune (B) Anand Bazar Patrika
(C) Malayala Manorama (D) The Times of India
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10.

11.

12.

13.

14.

15.

16.

17.

18.
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(C) TeITel HARH (D) T T A sfea
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19. A model of a final film product is known as :

(A) Rough cut

(B) Release print

(C) Archival print (D) Censored print

20. The well known
(A) Mother

sequence ‘Odessa Steps” appears in :

(B) War and Peace

(C) Battleship Potemkin (D) Diary of a Country Priest

Consider the following statements :

21. Assertion (A) :

Reason (R) :

C) (A)is true,

22. Assertion (A) :

Reason (R) :

While the corporation annual report is now regarded as the keystone
of the investor relations programme; it is also being accepted as one of
the important documents of a well-rounded public relations plan.

Before deciding on a variety of the content or the style and character
of the format, it is advisable for those who are to prepare the annual
report to have some knowledge of the quality or intelligence level of
the reader.

A) Both (A) and (R) are true

B) Both (A) and (R) are true, but (R) is not the correct explanation

but (R) is false

D) (A) is false, but (R) is true

Word of mouth can spread like a wild fire. If the subject and content
are right, it can burst into spontaneous combustion as an entire forest
may suddenly be over run by a conflagration. Through word of mouth,
rumour and innuendo may spread with extreme speed and spontaneity
if the subject is close to the emotions of people.

More than thoughts feelings most quickly take wings on word of
mouth.

A) Both (A) and (R) are true
B) Both (A) and (R) are true, but (R) is not the correct explanation
C) (A) is true, but (R) is false

D) (A) is false, but (R) is true



19. T forett Saae o if<aq €9 % HISH I Fed © ¢
(A) Th e (B) TSt iz
(C) AferE (3mehizaa) fie (D) R fowan o fie

20. Gufas ' sliewm W' A9 T HT ¢ :

(A) ‘meU'd (B) ‘oX ws @' d
(C) ‘dfewfr dreAfewa’ d (D) ‘SRRl AE T HS W' |
fefafaa et av faem &g :

21. Ifwed (A) :  Frm &t anftfer R s1er fafae Hefad wrisa &1 go1 STER qHet St
2, 30 giifea s gk Hifd % T Hecqul St % &9 H iR foma
TR

qh (R) : aftier RIS ot fawr axg o1 36k W&y 1 3elt 9 ey FEiia w0 9 1F,
R TIR & a1l 9 I8 31987 Bl § o 3% 9ashi o 701 9 Siifgeh &R &l
AR

A) THI (A) 3R (R) W& ¥
B) THI(A) 3R (R) W& § W (R) SHh! AT Tl |
C) (A) W& ® W (R) e B

(
(
(
(D) (A) 7o § 9% (R) 98 B |

22. IR (A): Yo I Fiohct W=t STt i ST0T 1 @& et Wehd €1 Al fawar =g aem ook
T B &, T I SITelt ST o e U el Hehd © o I SiTTeT 3T=Ieh 39
A i TS H T Sl &1 He o Tsal W TRdTE, ST 3Tca= diel i
T ST & Tt Wehdll ©, Afe 3Tt faw-a%g @rl ot reet o ke

Al
& (R) : foRl it 2T9eT WIEATE Sgd ISt ¥ Ue o Wil & gRI et ¥
(A) THi(A) 3R (R) T 1
(B) <M (A) 3R (R) Tl € W (R) Wl = 7 2 |
(©) (A) W&l & g (R) TTerd © |
(D) (A) T § T (R) T2 2
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23. Assertion (A) : Communications service is the role most frequently associated with

public relations. It includes the inward communication of information
about the company and its activities to all publics of interest to the
company. The communications may be given by any appropriate
media.

Reason (R) : It is broader than mere issuance of press releases as it encompasses

the total process of projecting the corporate image using news media,
corporate citizenship and by the use of other tools of external
communication.

Both (A) and (R) are true
Both (A) and (R) are true, but (R) is not the correct explanation
(A) is true, but (R) is false
(A) is false, but (R) is true

24. Assertion (A) : The audio control console is a central co-ordination point for all audio

signals in a television programme. It is at the audio console where all
sound sources including microphones, tapes, records, sound tracks
and film and videotape, are regulated, mixed and sent out to the
stations transmitter or to a videotape recorder.

Reason (R) : Each individual sound source must be controllable by the audio

engineer for a proper audio level. Consequently, each sound source
which enters the audio board must be regulated by its own separate
control.

Both (A) and (R) are true
Both (A) and (R) are true, but (R) is not the correct explanation
(A) is true, but (R) is false
(A) is false, but (R) is true

25. Assertion (A) : The media have obligations to society, and media ownership is a public

trust. News media should be truthful, accurate and objective. They
should provide a forum for ideas and should be free but self-regulated.

Reason (R) : Codes of ethics, professional standards and intervention of the society

C

(
(
(
(D

J—6308

A)
B)

)
)

may unlikely to ensure media obligation and fairness.
Both (A) and (R) are true
Both (A) and (R) are true, but (R) is not the correct explanation
(A) is true, but (R) is false
(A) is false, but (R) is true



23.

24.

25.

AR (A) : TR a7 TA: SHUH 9 IS FE 1 59 iR 3wkt nfafaferi w
Yo M & fodl § S Tl &l <7 &1 STiafe 99r off wiia g1 9%
o fordt ot Sues Hifean g1 fepan < Hehel B

e (R) : g T U9 Refist SR A § s = €, it 399 i &t sfa &
3k ¥ YEgd F HI 9% G4 uBHN wia 7 e wuer wHifemn, frm
FTReRaT 3T SRl FaR o 37 WL 1 STFNT &Il § |

(A) THi(A) 3R (R) T 1

(B) T (A) 3R (R) W&l € W (R) W =& Tl |
(C) (A) W&l & W (R) TTerd © |

(D) (A) 7Teid § % (R) 9 T |

AR (A) :  olifos wRHH | Tt gva dohdl & foru gva ffam saa WS
guo foig A1 €1 g9 Shuid U1 ohy § el § 9EE e Eid S R
WEHIHA, 24, T, Tse T, fthen aun aifedr v anfe Feifa 8 €,
fafya fre S € qen gigtie Lem! %1 2 difedl <0 Reprek &1 99t 9 €1

SIOT (R) : IUgH 98 R & o g @i A g7 stfwdan g @ foeen S
=1fen | JRuTEEEY, & &af Bid 6, S 9 IS | Tow T ©, Wd: T
gersh fia yereen § fefa 2 =nfeu)

(A) THi(A) 3R (R) T 1

(B) 3T (A) 3R (R) eI € UL (R) W =41 T 2 |
() (A) W& ® T (R) T T |

(D) (A) 7T & W (R) Tl

AMURIT (A) :  Hifed =1 Tuet & gfd Swerfae § qen Hifean @i us @ = )
THTER-HITSAT ! T, &l Td qeARb ST AMST a1 3o =Rl ol
Teh T UG AT 91T 7R 3= w0 W W= g =ifeu |

e (R) : MR Gfed], SAE@ges AFeUs qe THS & ey | Hifgar Swerfad
3R Frrogerar =1 gifeea & &t gomeEen 1@ 7

A) THI (A) R (R) TE& )

B) <Ml (A) iR (R) W& € W (R) TEI ==A & g |

C) (A) HE € W (R) Terd 2|

(
(
(
(D) (A) TTerd B W (R) HEl B
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26. Assertion (A) : There is a rapidly extending global communication infrastructure, as
well as a network of interconnected ownership and management of
communication business. Under current conditions, the
internationalization of politics and of trade and commerce supports
and is stimulated by communication globalization.

Reason (R) : The effect of such changes may not be experienced directly in respect
of culture and have a weak effect on international political and
economic relations.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

27. Assertion (A) : The term culture is characterized by something collective and shared
with others. It may not have symbolic form of expression, but have
pattern, and order, and devoid of evaluative dimensions.

Reason (R) : The most general and essential attribute of culture is communication,
since culture could not develop, survive, extend and generally succeed
without communication.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

28. Assertion (A) : Copy testing is a message building methodology that is used when an
advertisement is conceived or it is in its initial stages of development
prior to ad. making.

Reason (R) : The tests are designed to solicit responses to the main message of ad.
as well as the format in which that message is being presented.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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26. AMURIT (A): A TIR TE IR 3T Tlg T q91 HoR a9 & YaeH Hl
et § fomar & @i 81 oo afifeurfae §, e, snfoesr $iR =R
SRR TIR & SvTehTvl gRI Wit iR ieafed 2 €1

qeh (R) : TG YR o RS-l 1 JIS GER{d & €9 H JoAeqd: 3Tyd el fohan o
Hehdl qUT SHHT AL TsHideh IR Tfefer Heiell | 7 Jure Bl

(A) THI (A) 3R (R) 3 1

(B) M (A) 3R (R) 3% § T (R) Hal =& Tl |
() (A) T g, W (R) Tod B |

(D) (A) TTeM &, T (R) el 2|

27. SR (A): TEHI A 1 A0 THfEH BT T SR THH T AN o 1 WG Bl 2 |
T 21 Tkl § 5 T 1fsafts 1 Wediohicash ®9 1 21, T 391 W8T 31X
T BT © 3R I8 geish i | Ied e |

T (R) : Tepfd ®1 T T iR Siferd aeror ® welvii, sifn Sehfa
e & o fasfaa, Sifaq, fasga qon 9= 9 9 9% 718 &
el F1

A) THI (A) 3R (R) W& ¥
B) <Ml (A) iR (R) W& € W (R) TEI == & |

C) (A) W& T, g (R) Tod T |

(
(
©
(D) (A) 7Ted €, WG (R) T ¥

28. AR (A) :  FAULEIO (HIFET) Tk Hew oo ugfa €1 g8t a9 & fhan S §
el g o (Tg) s 1 foeaR 33a1 § &1 fommoe ot o 9 gd &%
YR Tl o faem & SR H 2a1 81

& (R) : T TH YRR AR fhT S € difsk fomm= (Te) & qa Hew qon 59
&Y H 9% Hew WA foRdl T €, 39 W YfAfHA U i S 9 |

(A) THi(A) 3R (R) T 1

(B) <M (A) 3R (R) &l T, T (R) TeI AT Tl |

Q) (A) T €, W (R) TTerd T

(D) (A) 7Ted €, WG (R) T ¥
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29. Assertion (A) :

Reason (R) :

(

(

©

(D) (A) is false,

30. Assertion (A) :

Reason (R) :

(

(

©

(D) (A) is false,

Match the List 1

Visual emphasis is directly related to the size of the subject in the
shot. A close-up, by definition, excludes all other picture elements
except the principal subject from the viewer’s attention.

As the shot widens out to include more of the principal subject and
less of the background area, the principal subject becomes physically
reduced and shares the video space with other elements in the shot.

A) Both (A) and (R) are true
B) Both (A) and (R) are true, but (R) is not the correct explanation
(A) is true, but (R) is false

but (R) is true

The “Law” of the suppression of radical potential, will act as a brake
on innovation to protect the social or corporate status quo.

The institutionalization of all technologies has led to the suppression
of any radical tendency and there is no particular reason to suppose
that this will be different with the latest inventions.

A) Both (A) and (R) are true
B) Both (A) and (R) are true, but (R) is not the correct explanation
(A) is true, but (R) is false

but (R) is true

with List II :

31. Match List I (Folk Media) with List II (States) :

List I List II
(Folk Media) (States)
(i) Yakshagana (a) Haryana
(i) Burrakatha (b) Maharashtra
(iii) Tamasha () Karnataka
(iv) Saang (d) Andhra Pradesh
Codes
@ © © @
A O @) G @)
(B) @) @ (v) (i)
(© @) (@v) @ ()
(D) @v) (@) @ ()

12



29. 3R (A) :

e (R) :

~_~ o~ o~ o~

30. IFUHAT (A) :

Th (R)

(
(
(
(

T JUE 1 e Gey Rt wie & fawa-asg % R 9 T wiikenfys
3fentor § fehe wife Sefehl 1 e e fawa-ag & stfafie o= |t fom
Tl 9 g § |

S & e’ fasga 2 §, ge fav oy 1 e s o T oI gmyfh
F FH HH F AU =7 faua-a%g &1 R FH a1 5 g, iR sifen
WY & Tie & T o 9 HEERT Bl St |

A) THI(A) 3R (R) T& T

B) THi(A) 3R (R) Tl €, W (R) T =& T 2
C) (A) ¥& T, 9g (R) 7o B |

D) (A) 7o ¥, 9] (R) T 21

A aal (YUeeher Wfmret) & <o o fem ! St = e
Fenfeerd o) &l o foIu Tergerd=i 9 ek h1 hH Hidl & |

Goft TeheTehl T GEATTROT fohelt off 2Tt wgfa i <o § R a7 g
o1 g faem Hror el © foh Taivay srormuii # Tar =7&f g |

A) THI (A) 3R (R) 98t €1

B) <Ml (A) 3R (R) Tl €, T (R) T == 7= g |
C) (A) Tl €, g (R) T 2|

D) (A) e 8, W (R) W& B

31. Tel-1( &k qream ) 1 ger-11 ( aear) 9 faae %

ger-1 ger-11
( & qreaq ) (757)
() & (a) BfEmm
(i) TR (b) HERE
(iii) TR (c) hleH
(iv) T d) T Y
HIE :
@ () (© (d)
(A) @ @) @) Q)
(B) (@) (@) (v) (i)
© @ @v) @ (i)
(D) @v) (@) @) (i)
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32. Match List I (Book) with List II (Author) :

List I List II
(Book) (Author)
(i)  Warrior of the Fourth Estate (a) Bill Gates
(i) Future Shock (b) B.G. Verghese
(iii) The Road Ahead (c) Daniel Lerner
(iv) The Passing of the Traditional  (d) Alvin Toffler
Society
Codes :
@ ® (© ()
(A) @) @Gv) @ ()
B) @) @ (Gv) (i)
© @) @ (@v) (i)
(D) Gv) () @) ()

33. Match List I (Book) with List II (Author) :
List I List IT
(Book) (Author)

(i) India’s Newspaper Revolution (a) Walter Lippmann
(ii) Public Opinion (b)  Vanita Kohli
(ifiy Small is Beautiful (c) Thomas C. Friedman
(iv) Indian Media Business (d) Robin Jeffrey
(v) The World is Flat () Schumacher
Codes

@ b © @ (@
A @) @ 6 @)
B @ @ © O
© & @ @ @0 i)
@) ) &) @ @ (i)
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~11
(d@F )

(a) foc TreH

(b) RS =S
Sfma @R
TeAfer 2Ther

(©)
(d)

-1

IR o1TF € Hief T

IR W

geE-1( s ) = gei-11 ( &Eas ) 9 faam S
(=T )

(iv) T IR 3% § CEivMel Hremsel

(i) < VS 3T

(@)
(i)

32.

geE-11
(i )
et faudd
ST gt
T9E . W
Tfer STt

()
(b)
(©)
(d)
(e

- L O O T
~— ~—~ ~ ~ = = O O T
~— ~—~ ~ ~—~

~— ~—~ ~— ~

~— ~ ~ ~ ~~ = O O

gfean'q =R EEH
qfserer sfifufm
(i) T T FHA
iv) sfeaq Hifean fasmg
T Iee T9 I
b)
ii)
iv)
iv)
v)

ger-1
(g&® )

~— ~—~ ~ ~—~ ~— N~ ~ ~

<)
)
iv)
iv)
ii)
e-1( g ) 1 gei-11 ( @Ees ) 9 fam &

(iv)
v)
Fe:
(A)

B)

C

D

(@)
(i)

33.

P.T.O.
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34. Match List I (Communication model) with List II (Author) :

List 1 List 11
(Communication model) (Author)

(i)  Sociological view of (@) Mc Combs and Shaw
communication

(ii) Spiral of Silence (b) De Fleur

(i) Agenda - Setting (c) Riley and Riley

(iv) Dependency (d) Galthung and Ruge

(v)  Selective gate-keeping () Noelle - Neumann

Codes :
@ ® (© (@ (@

(A) @) @(v) @ () ()

B) @) @ (v (@ (i)

© @ (@) @) ) (@i

(D) @) @ (v) (@Gv) (i)

35. Match List I (Newspaper) with List II (Year) :

List I List 11
(Newspaper) (Year)

(i) Anand Bazaar Patrika (a) 1920

(i) Sakal (b) 1922

(iii) Mathrubhoomi () 1931

(iv) Aaj (d) 1930

odes :

@ ® (© ()

(A) @ @) 3D @)

(B) Gv) (@) @) ()

© @ (v) @) ()

(D) Gv) @ @) ()

36. Find the correct order of communication models in their chronological years :
(A) FEX Dance — Lasswell — Osgood and Schramm — Shannon and Weaver
(B) Shannon and Weaver — Lasswell — Osgood and Schramm — FEX Dance
(C) Shannon and Weaver — Osgood and Schramm — Lasswell — FEX Dance
(D) Lasswell — Shannon and Weaver — Osgood and Schramm — FEX Dance

37. Identify the correct chronological order of places where Doordarshan launched its
operations :

(A) New Delhi — Kolkatta — Mumbai — Chennai
(B) New Delhi — Chennai — Mumbai — Kolkatta
(C) New Delhi — Mumbai — Kolkatta — Chennai
(D) New Delhi — Mumbai — Chennai — Kolkatta

J—6308 16



geE-11

( GE qEeT )

eEl-1( Gar qrge’) &1 geEi-11 ( &@as ) 9 faam =8
geir-1

34.

— — — ~— —

(a9)
1920
1922
1931
1930

geE-11

. . . .

— — — — —

ger-1
( GETER 9T )
M= SIS’ fAeht
b)
ii)
ii)
i)

Tel-1( GETER 97 ) & ge-11( a9 ) 9 foam Hife
d
1v
111

35.

P.T.O.

S ~
2 E o
Iawm &
_M
|
E o
&
T T
= |
s Ap

|

I AR AR — A — TS 3R 90 — TF T i
C) I IR dia — S IR 90 — AHIA — TF § U TiF
¢ fooell — <=1 — HrIg — ehicTehl

A) TH T T S — o — TS 3R g9 — 9 3iiR oo
C) % fooelt — grg —
D) % feoelt — g

D) THAA — I 3R e — TS iR 91 — TE § Ua i
Freafafead Tl W EeH J9RY IRE B 1§l STIRH Jal

freAfafied SR ATSal o1 9@l Shietshd JdTu :
A) T feeelt — el — g —

(
(B)
(
(
(
(B)
(
(
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38. Find out the correct sequence of Daniel Lerner’s indicators of modernization :

(A)
(B)
(©
(D)

Urbanization — Mass media exposure — Literacy — Political participation
Urbanization — Political participation — Mass media exposure — Literacy
Urbanization — Literacy — Political participation — Mass media exposure

Urbanization — Literacy — Mass media exposure — Political participation

39. Find the correct sequence of news agencies that were started :

(A)
(©

Reuters — IPS — AFP — AP (B) IPS — AP — AFP — Reuters
AP — Reuters — AFP — IPS (D) AP — AFP — Reuters — IPS

40. Find the correct order of films that were released :

Mera Naam Joker — Sahib Bibi Aur Gulam — Waqt — Coolie
Sahib Bibi Aur Gulam — Waqt — Mera Naam Joker — Coolie
Waqt — Sahib Bibi Aur Gulam — Mera Naam Joker — Coolie
Sahib Bibi Aur Gulam — Mera Naam Joker — Waqt — Coolie

41. Identify the correct chronological order of dailies when they were launched :

The Hindustan Times — The Hindu — Amrit Bazaar Patrika — Bombay Chronicle
The Hindu — Bombay Chronicle — Amrit Bazaar Patrika — The Hindustan Times
Amrit Bazaar Patrika — The Hindu — Bombay Chronicle — The Hindustan Times
Bombay Chronicle — The Hindu — The Hindustan Times — Amrit Bazaar Patrika

42. Identify the correct chronological order of the following :

(A)
(B)
(©
(D)

Odant Martand — Samachar Darpan — Gospel Magazine — Digdarshan
Digdarshan — Samachar Darpan — Gospel Magazine — Odant Martand
Samachar Darpan — Odant Martand — Digdarshan — Gospel Magazine
Gospel Magazine — Odant Martand — Digdarshan — Samachar Darpan

43. Identify the correct sequence of stages in diffusion of innovations model :

J—6308

Knowledge — Confirmation — Persuasion — Decision
Knowledge — Decision — Confirmation — Persuasion
Knowledge — Persuasion — Decision — Confirmation

Knowledge — Persuasion — Confirmation — Decision
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38. SfTc @R % SMYMRIHROT T Yokl 1 T STIHH DI N T2
(A) YRR — SHHIR ITART (HIE Hfea TadeR) — HeRdl — qSiHfds Teviima
(B) YRS — TSIk FRHIRTAT — SHUIR ITART (A Hifean TaadeR) — Siard
(C) VBRI — HIERAT — TSI T — SHHR ST (A Hifean Tedsi)
(D) YRS — HIERAT — YR START (HE Hifean ToRIdeR) — TsHfde Tewiim

39. HHMER TSI % JRE B9 o OE A o
(A) THE - SR AT - TR - Td
(B) oME W TH — TH — TTH U — T
(C) T — E — TTE G — o d T
(D) TH — TG — el — o 0 uE

40. fTreri & feftst 89 1 e % fad .

(

(B) Hifesl el 3R [aIM — ok — A M St — Fett
(C) o — Hifed sitelt 31X ™ — T A ST — el
(D) wfed sfieit iR M — A 19 SRt — Jd — et

41. Tr=fafad THER 95 & IR 8H o 9 STIhH S =99 HifT
(A) T feger Trm — T feg — o1 IR IfeRt — STt shifehet
(B) T feg — 9 Shifehet — 1gd SR UfehT — < fegw T
(C) 3Td IR ufel — T fog — ol wiferdl — 3 fegea™ e
(D) ol hiiehel — € feg — € Tegwar 2e: — S7d SITeI ekt

42, A % FATER 77 1 & TIHA o0
(A) 3T ARITE — AR YU — TMEIS WS — feree
(B) fo=eM — THMER YO — MEIA HISTH — IIA ARITE
(C) THMR TUU — 3IEq AR — foree — meie HrsiA
(D) TS TS — 354 Arve — foreel — wmem g

43. O foeRo & Hred & fafis =l 1 Sfad w9 e ?
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44.

45.

Identify the correct chronological sequence of committees :
(A) P.C.Joshi — Mc Bride — Varadan — Sengupta
(B) Varadan — Sengupta — Mc Bride — P.C. Joshi
(C) Mc Bride — P.C. Joshi — Sengupta — Varadan
(

)
D) Mc Bride — P.C. Joshi — Varadan — Sengupta

Identify the correct chronological sequence of magazines that were launched :
(A) India Today — The Week — Frontline — Outlook
(B) The Week — India Today — Outlook — Frontline
(C) Outlook — India Today — The Week — Frontline
(D) India Today — Frontline — The Week — Outlook

Read the passage below and answer the questions that follow based on your
understanding of the passage :

Target areas in community relations are to be stated and they need considerable
refinement. The object is to set reasonable goals that can be reasonably met.

Failure to spell out specific goals kills some community relations programmes
before they get started. In attacking problems on too broad a front, some companies
pour money, time and talent down bottomless holes.

Lump all of the community’s concerns under one heading “Urban crisis” and
you create at once a single, gargantuan problem and perfect excuse for avoiding it.

Sound community relations programmes should give company and community
tangible results, not simply warm feelings in “doing good” by simply doing something.
Certainly such programmes should avoid actions that seem patronizing.

A telecommunications company had two primary target areas on which it
concentrated and in which it felt it had years of experience. The areas are education
and employment. The reason for them were simple : as the second largest employer in
the country, the company was in constant need of new employees with adequate
educational levels and skills.

These two areas, even before being reduced to specifies, suggest the corporate
potential to the telephone company. PR programmes in there areas may mean more
and better qualified employees for the company. Certainly they can mean more wage
earners with better, higher-paying jobs as potential customers for the company’s service.
The payoff to communities are self evident ...... not to mention the values to individuals
directly affected. But what was needed by the community in education and employment
that company could provide ?

To find the answer the company had to not only select among apparent and
hidden community needs, but to relate those to the corporate resources available for
programmes. There resources-common to all business - are people (time and talent),
equipment, facilities, and money (aside from the fiscal value of the other three).
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44.

45.

FIA STER F=fafea dfbfal w1 gt 3T Hd adre
(A) E. SR — 7% TS — aET — S
(B) A — T — Heh smee — WL Sl
(C) W IEe — dEl. Sieft — | — axeA
(D) ik oge — WE, S — SRed — Fa

frfetfiaa atenietl % I& B 1 @et STThH o
(A) A ge — TR — e AR — IS qH
(B) T dolleh — 3fedl 228 — 3= qh — Whe A
(C) M Tk — Ifed g2 — T oIk — Whe T
(D) sfea g8 — e - — T offeh — TS

A7 S@T9T 1 Ufzu 3iiv 3qe: e ¥ fAefoiad gy &1 37 g |

HreTfosh T o faw @edl o1 e s o SRt SR ufisha & it §1 9%
TafeTy sTevae § fed o T8 qehea e T e fSient W e oft gory &)

YEIE 3 T 1w ht feafd § wrden yrey § & gaye: & e ¥ o fowga
e ® o & ¥aE B 9 oF, gaa 9 gfawet & i fog § seodt € e o
a1 & 7 2|

forelt THQ T STl FHENST I Tehsleeh Teh 19 S TGI o H 31T < THAT
TR, foreTIetehml THET 1 ST € 24 € ST 379 319 | rei okl ST s el § |

Ha SIS TFIeh{ | &A1 9 HAS SH1 bl 319 qRome fiHer =1few 1 fof wae 7=
el % foTT  o1=st e’ & W W FS ot WA e T8 SRiwH 9 T s T2
B AMTET AT W&ol Y& fohar 71 @1 2 |

Teh WHAR HFIA o & A8 TH & § 9 FSr5eht 3207 310 1 ot e formg e 9 38
I o1 o 39H 3RT 6 1 A9 o1 | A% fawg o e 9 USFIR | SR R0 91 © : <9
1 T FATeh TSR S STl HEAH 8 o 1d, ! Sl 3uge Aradisl 9 Here faaa
ot TR sTrergareRdn ot |

faferersti # faurem & fom «ff o= AT fawar STEAR =t &t & fo frma Samere
I TG ® 1 T fawl R SHEmd %l | w6 e A H# gary wHen field |
fafaa &1 & TW IR | FHEA R AR a9 THAT 9 A Fen § Jaaun of e S
I ot Feneti S T ek ot B | HS <l 39 B Aol oy off T8 ¥ - SAfed oy
@2 & g T I o TR e 9 ISR & Traifeera TEn R o S 9ue bl =feu o 3K
HEH I < TR H HeEw off |

THHT I G o fTT KT Sl 7 holdd TS i T o AT Tagdehdist § 9
T HET B SR 3% HHH o foTT Sueisy S 9 off grefeed S eRm 1 I8 HEeE ¥
- AFEE (THF 9 Ufae), I, giaemd 9 o1 (Tee 9 1 o mee ST € 1)
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46.

47.

48.

49.

50.

The company had been providing educational aids for use at all levels of both
public and private school systems. School relations people in the company continued
to seek advice from, and help for, teachers in classroom needs.

The company increasingly recognised. The need to relate the learning process to
life as the students will live it, to embed through student experience the practical
application of learning. To that end it works with educators on economic education
presentations for use in high school curriculum.

In the example given above the PR officials of the company sought help from the teachers
about :

(A) Student activities (B) School finances

(C) Requirements in the class room (D) Telephone facilities in the school

Based upon the above passage what is not included in the list of corporate resources :
(A) Past experience of the target group
B) Talent of the workers

(
(©
(D)

Infrastructure available

D) Budget available

Community relations can result in benefitting the company by :
(A) Receiving more charity (B) Engaging better manpower

(C) Exploiting the target audience = (D) Reducing dependence upon the society

Being the second largest employer in the country the company mentioned in the above
example prioritised two areas. There were :

(A) Schools and Colleges (B) Teachers and Students
(C) Education and Employment (D) Education and Skills

What kind of efforts in community relations are likely to be wasted :
(A) Efforts of a team of persons derived from various departments
(B) Inability to list and refine specific goals

(C) Constant evaluation

(D) Midterm intervention

-00o0-
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46.

47.

48.

49.

50.

39 99 H FHEA g 9 & SRR 9 fash fommeri § fafvs Tl @ v 2F 9t deifores
IUHLON ok TIaor e @ ot | fommerdi 9 Tweh 9 aTel P o AR 31eaTdehi o faq
F 3T TSt WH i W/

HEA J 39 o1 bl ot 7T TR Hiem @t gfshan o6 faenfe o Sftem 9 wreee e fe,
Toren & @I I o1 foaenfl & g STgva o ST Bl §1 36k fag feent & @iy
forcttr forem ot wgfoi 1 21E SRt o TTSTsRHI H AT 1 HIA T

SR e T 3SeT0r H HEAT & S W & STfYemREl 3 eTeArdent 9 TRy fawa W werdn ue
EZS IR DI R C

(A) Toenferi o e o fowa o (B) oo =t forita =zreen & fomwa o
(C) <hefl it STerwaharsti & fowa § (D)  fommerd § it gfawneti o fawg |

TR fEU T SqUTE | Sde wEoEt % GEeEi | Feftad § 9§ 9 78 8 ?
(A) ferd T9E 1 dl AT (B) hfHaAl sl fdurg
(C) SueTsd Hfaurg (D) 3UcTsY SISTE

HIRIforeh Trqeh & HTIT ohl 9T T & Fehll & 2
(A) Ifes gF e (B) dER HHERI fHe
(C) <fea TRl o AW I ST (D) ¥o W iR w7 2

< I THA FoM AUk M <F ATl e B ok A HW ST T I | wEot 7 fohA &
ot et erfieRan <t 2

(A) forrme 9 wRifo@e™ (B) Terenelt & atemmaen

(C) Toram 3 TSFIR (D) foen 9 @A

qreifae T H e YR & Jar fawa 2 2

(A) TH <A & g fad fafis faur & safs mfte &)
(B) HEIE STl it Tl ST IR 3= URShd HE

(©) fie e

(D) Ty e

-00o0-
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